§?f6 fach 4l Rﬂchtm_ﬁ_

e gualmate P) Ax  P(v) ‘ Q=) Vo\omm'ab_
alr)
f((ﬂu.: -L 0‘1 -

L e e

M‘ Au_j 0’) (An_j(/@> amak Q()L)_.. CKHD(?H%)--- (,qu)
a; alk Ashut reak b8

fan PO Ay A,

_ g e 120 A duwbes
6.(%) G RS Ntan
E?@\!!!f_ﬂ x Az e C’X-H)(?(-!)
-\
S S Y Y W Oe
e | A4t W=\ (=) (1) x|
AvB= | fvg Or@®: =l 8l A-L
AT o @
% b ‘
y———dx: _ﬁ_’:{,__fj_ A - _’.,Q,M\wcll-yj,:b*"l“'l*c
G g H b ey =

glu,u;a‘. WM - &y abe bk &“3(?>?*Q‘JC®') <y Lp\.ﬁahvl‘&lim
> %

e e - dx x| \1(3 AT T
i P $o
R R e e
e cewmninder %1 - |

3
%
X
So f.___ p fau-._ AL =

e 5]

goaak e : ND Q)= (nra) (7(-(‘31,)-" (’H"!u)

Gv a; wi Wl dush'v:i) vy w\wﬁd %)13




M xA - i 4 B i AQB’(- uuwbest

(”C’\) (‘14“1)1' 2~ | ;Tn L @4.1)1'

iw gk - z&% Foam) = @y (ea Y (Gen)

Huw PO f_{_‘+_ﬁ1 PR M Ay N A,
O ey Gy L”"‘“‘Dﬂ' o’ (?‘+an
bampe 2 AGe) " Ba-)(xn) c(z)
()Y’ (- (e )*

Ok, ey 3 cutacs in Db
D e v ath x > bue ’ﬁvau:j pationloy 2

L= =2 ¢ -1 = c(-3) 5cs 'z

=l L= A“ F A=Y

k=0 | = 4h-18-Cc ¥ eB=uh-c-i= B 1o -

’I.-l—l I ,L re
C"")@‘”’) s J. ! 'x-t'l N (y.+;b o ’QMh' ”QM\”Z’ I a4

sE ua) (A% M‘Q\H‘ ’ﬁ«d‘l‘b
'K,"'l’\ = ’1'\\(_7"{’\) :f (’x"’qt)(""”‘u\ a, re_al,
ff_\f_" S‘ﬁ;dlt = 'h\l\'{(‘k‘)-f(,
(K J‘_'__. o A W,\Mfe fao sprove  Lix4| = @4{)1'1- *y
Aknt|

- f_‘_., PRl j,,‘_ din = 5( s - 5 il

Yy (Y ‘H‘“z\ g " 3 ) ()
Ly W A2 . LI - 5 - 8 ) T3
e Vi An V2 ’gg Kyt % . ‘@b ()

i

_,7,..\ )C




